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1 Formula

The value of a forward starting geometric average rate option is�
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φ Option Type

-1 Put
1 Call

The value of an in-progress geometric average rate option, where the underlying has already been observed at times
ti for 1 ≤ i ≤ m, is given by�
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2 Properties of Instrument

The payoff for a geometric average rate call option at expiry is given by

CT = (GT −X)
+
, (1)

where the weighted geometric mean of the underlying at n pre-defined observation times ti is given by
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where (wi, Sti) is the (weight, underlying) pair at ti, and
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Similarly, the payoff for a geometric average rate put option at expiry is given by

PT = (X −GT )
+
. (3)
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